
This document, including images, may not be reproduced partly or fully without the expressed written consent of National Products, Inc.To see more mounting options, visit rammount.com

rammount.com
1.800.497.7479
support@rammount.com

Safety Precaution
Do not install this product near or over an airbag deployment area or in a location that obstructs the driver’s vision or interferes with vehicle 
operation. National Products, Inc does not assume responsibility or liability for any such personal injury, death or property damage.

(x4) Nylon Spacers

H

H

I

I

A+B

A+B
A+B

A+B

A
A (x1) Top Plate

G

G

(x4) #8-32 x 5/8” Screws

E

E

(x3) ¼”-20 x 3/8” Screws

(x4) ¼”-20 Nylock Nuts 

D

D

(x4) #8-32 x 3/8” Screws

C

C

(x2) ¼”-20 x 3/8” Screws 

B

B

(x1) Knob Plate

F

F

(x4) ¼”-20 x 1” Screws 

RMR-INS-CC1

RAM® Heavy Duty C-Clamp Base 

Parts Index 
* not to scale

Assembly Instructions

Clamp Assembly

NOTE: Not all hardware is included 
depending on the variation.

NOTE: Both (C) Screws must 
be used in this assembly

B Size & C Size Ball Mount Connection D Size Ball Mount Connection

Lower Pole & Pedestal Connection (Optional) Side Mount Connection

Completed Clamp Assembly View


